INSTALLATION INSTRUCTIONS

FIXTURE SERIES: SAE104 MOUNTING TYPE: WALL

PAGE: 1 OF 4

N
—_—— O ——

SAE104

A

WALL MOUNT BRACKETS

3 7
END CAPS

7.0"

Y

TOP LED MODULES

J-BOX AND COVER
SUPPLIED BY OTHERS

TOP LED MODULES

TOP LED MODULES

TOOLS REQUIRED

SUPPLIED BY INSTALLER

- Hex driverfwrench
- Wire cutters
- Screwdriver/drill

- Wire Connectors (for power feed)
- 2x4 J-box & Cover

LITECONTROL ===

litecontrol.com

DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN.

IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF [T, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

DRAWING: 510676

REV A DATE: 01/23/18




INSTALLATION INSTRUCTIONS

FIXTURE SERIES: SAE104 MOUNTING TYPE: WALL PAGE: 2 OF 4

3/16" — [=——FIXTURE LENGTH MINUS 2 3/4" ——

CUPPLIED BY OTHERS Install J-Boxes so that the top of the openings are 3 1/4" to 3 12"
L3 ahove the intended height of the fixture. This will give a J-Box opening
18 of 1 1/8"to0 1 3/8" above the top of the wall bracket/fixture.
)

3 1T/2" s
31/4" I ?
i b o112 2
R N

/% 3/8" L 5/g"
7 3/8" ————

23/64" —f==—

FIXTURE LENGTH MINUS 2 3/4" ———

Use two (2) brackets

per fixture
S S N S S A A
P 3
3 $
First Fixture in Row Other Fixtures in Row
DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. DRAWING: 510676

IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 7681-294-0100 REV ADATE: 012318




INSTALLATION INSTRUCTIONS FIXTURE SERIES: SAEL04

MOUNTING TYPE: WALL PAGE: 3 OF 4

1 NOTE: Before installation, refer to Row Bracket 2

Mountin Detail on page 1 & 2.

NN

NN

Pre-hang mounting brackets and feed cords then pivot fixture into
mounting bracket to mount fixtures on to wall.

Remove existing #8 screw and replace with flat head screw and
washer (provided). Ensure provided screw attaches to casting.

KO
LOCATIONS

Remove any of the KO on the fixture, insert bushing
and feed power cord near mounting brackets.

For row mounted fixtures, slide the end headers into their respective slots and attach with
two 10-32 machine screws and hex nuts (provided).

5

Install end caps by sliding into end headers and attaching with two 10-32 machine screws
(provided).

LlTECONTROL TS DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. DRAWING: 510676
S iecaicom IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 7681-294-0100 REV ADATE: 0123118




INSTALLATION INSTRUCTIONS FIXTURE SERIES: SAE104 MOUNTING TYPE: WALL

PAGE: 4 OF 4

8-32 SCREW LOCATIONS BOTTOM LED MODULE

TYP

BOTTOM LED MODULE

BOTTOM LED MODULE

1. Remove four 8-32 screws to remove bottom LED module 3. Driver channel is accessible by removing top LED modules
2. Remove four remaining 8-32 screws on each side reflector to remove top LED modules

s DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN.

LlTECONTROl_ SRS feanmoleon IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 7681-294-0100

DRAWING: 510676

REV A DATE: 01/23/18




